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Problem quickname: 4599

1
Insert the correct symbol, + or —.

a)47  41=6 b)44 28 =16 )24  15=9
)28 17=11 )31  25=6 9  3=12
gld  1=15 h)33  2=35 17 11=6
29 22=7

2)

Insert the correct symbol, + or —.

a) 37 23 =14 b) 46 13 =159 c) 25 21 =4

d) 68 60 =8 e) 24 16 =8 f) 27 14 =13

g) 94 92 =2 h) 25 16 =9 i) 38 34 =4

j) 84 03 =31

3)

Insert the correct symbol, + or —.

a) 3 2=25 b) 21 3=24 c) 11 3=14 d)9 6=3

)9  2=11 )17  15=2 €20 1=21
b7 4=11 )8  5=13 2l 12=9

4)

Insert the correct symbol, 4+ or —.

a) 6418 5711 = 707 b) 4973 3954 = 1019

¢) 1688 181 = 1869 d) 1146 =~ 601 = 545 e) 2252 817 = 3069
£) 1244 1102 = 142 g) 2043 1113 =930

L) 3640 2785 = 855 i) 7968 564 = 8532

i) 5711 3407 = 2304

Good Luck!
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